
jyrEva 

e 

PARTS / COMPONENTES / COMPOSANTS 
1. Sitencer / Silenciador / Sitencieux 
2. Mainfold / Colector / Collecteur 
3. Union gasket / Junta uniön / Joint d'union 
4. Exhaust / Escape / Echappement 
5. Cylinder nozzte / Tobera citindro / Tuyere cylindre (028) 
6. Cytinder nozzte / Tobera citindro / Tuyere cytindre (025) 
7. 0-ring / Junta torica / Joint torique 
8. Spring / Muelle / Resort 
9. M6x25 screw / Tornitto M6x25 / Vis M6x25 
10. M6 wacher / Arandeta M6 / Rondette M6 

11. Sparer Casquitto / Entertoise 

12. M6 nut / Tuerca M6 / Ecrous M6 
13. Screw (not provided) / Tornitto (no suministrado) 

/ Vis (non fourni) 
14.Sitent !plack (not provided) / Silentbloc (no suministr 

/ Sitentbtoc (nun fourni) 
15. M6y20 screw / Torrillto M6x20 / Vis M6x20 
16.01 tube protector / Protector tubo aceite 

Protecteur Machon Huile 
*. Vehicle parts/Partes det vehicuto / Composants du vehicu 

7Z722‚  
051251131/051257136 

ASSEMBLY INSTRUCTIONS 
INSTRUCCIONES DE MONTAJE I NOTICE DE MONTAGE 

‘‘, 

                      

06
12

57
73

6 

           

103442 

 

8 

 

43552 1 

 

   

             

II 
03435 

  

               

       

521 

 

1 

  

 

8 

 

435 

   

     

 

GARANTIE 

                  

:WARANTEE TO BE F1LLED OUT BY TECN1GAS REPRESENTAT1VE 
iARANT1A DEBE SFR CUMPUMENTADO POP UP REPRESENTANTE TECMGAS I GARANTIE A REMPLIA RAR UN REPRESENTANT TECMGAS 

Date of purchase: 
Fecha de compra I Date d'achat 

lssued by: 
Emitido por I Ernis par 

Stamp&signature: 
setio y firrna Cache,. et signature 

GUARANTEE 

lt is absolutely forbidden to modify 
- alter any part of the exhaust. 
icnIgas Parts S.L. disdalms all 
isponsibiltities concernlng or related to 
te defects or matfunctioning of the 
tered or modified product. 
. Guarantee is limitted to the normal 
3f2 of the product and will be void If In 
ise of improper Installation. incorrect 
32 of the product, compelltion and/or 
:cident 

no mearis the custorner shoutcl 
3semble or try to assernbte a Tecnigas 
-oduct into vehictes for weh the 
3mpatibillty has not been dearty 
tated. 
. Guarantee is restricted to the 
tptacement of the pari detected as 
tutty by the Technicat Services from 
?cnigas Parts S.L. 
. Guarantee exctudes items subject to 
drmal wear tike gaskets or damping 
oot. 
. Guarantee excLudes appearance (a 
irther change in colour is normal dos 
) heat and materials used) and 
?rformance of the products. 
Technical specifications and features 
Tecnigas products are subject to 

lange without notice. 

GARANT1A 

1. Se prohibe toda modificaciön 
alteraclön det sitencioso. Tecnigas Parts 
S.L. rechaza toda responsabilldacl 
retaclonacia ton La utillzaciön de 
productos modificlados o atterados. 
2. La garantie se timita a la utilizacidn 
normal det producto v  erde su validez 
en caso de montaje incorrecto. un uso 
incorrecto, accidente yfo competicidin. 
3. De ninguna manera debe montarse o 
intentar rnontarse un producto Tecnigas 
en vehicutos para tos cuates no se indica 
daramente su compatibilidad. 
4. La garantie estä Limitada al remplazo 
de la pleza considerada defectuosa por ei 
ServIcio Tecnico de TecnIgas Parts S.L. 
5. La garantia excluye elementos 
sujetos a un desgaste normal por et uso 
(corno fibras o juntas). 
6. La garantia excluye la apariencia (un 
camblo del color det sllencloso es 
normal debido al calor y Los materiales 
empteados) y et rendimiento de los 
productos. 
7. Las especificaciones tecnicas 
caracteristicas de tos productos 
Tecnigas estän sujetas a camblo sin 
previo aviso. 

, 

1. Toute rnodification ou alteration du 
sitencieux est intercilte. Tecnigas Parts 
S.L.. refuse toute responsabitite 
detivant des defauts et mauvais 
fonctionnement du produit altere ou 
modifie. 
2. La garantie est timitee a uns 
utilisation normale du prodult et perd 
sa vatiditee en cas de montage 
defectueux. utilisation Incorrecte, 
competition et/ou accIdent 
3. En aucun cas, te dient doit installer 
ou essayer d'Installer un prodult 
TecnIgas sur des vehicutes pour 
esquels La compatibIlite na pas ete 
dairement indiquee. 
4. La garantie est timItee au 
rernplacement de la partle consideree 
defectueuse par le Service Technique 
de Tecnigas Parts S.L. 
5. La garantie exclut Les eteme.nts 
soumls ä uns usure normale (par 
exemple fibres ou jointes). 
6. La garantie exclut l'apparence (un 
changement de couleur est normale en 
raison de ta temperature et des 
materiaux utitises) et la oerformance 
des produits. 
7. Las specifications techniques et 
caracteristiques du proclults Tecnigas 
sont sujets a modifications sans 
preavis. 

WWW.TECNIGAS.COM 	INFO@TECNIGAS.COM  
TECNIGAS PARTS S.L. 	PLA DE LA FONT, PARC 1. E-17832, CRESPIÄ (GIRONA) 

 

firitenurinctura 

   



EC TYPE-APPROVAL CERTIFICATE IN RESPECT OF A NON-ORIGINAL 
EXHAUST SYSTEM ACCORDING TO THE DIRECTIVE 97/24/9/EC 
CERTIFICADO DE HOMOLOGACION DE UN DISPOSMVO DE ESCAPE QUE NO ES DE FABRICA SERA LA DIRECTIVA 57/24/9/EC 

CERTIEKAT DNOMOLOGAT1ON DtSPOSITIF D'ECHAPPEMENT NON D'ORGNE SELON La 	CT 97/24/9/EC 

e9*97/24/9/11*2009/1081349*01 

PEUGEOT / MOTORHISPANIA -DVOC (RYZ) 

MINISTERIO DE INDUSTRIA. ENERCUA Y TURISMO 
Subdirecciön General de Calidad y Seguridad Industrial 
..uxr de to Gastelkeno. 160 E-28071 Madrid SPAIN 

Madrid (SPAIN) I 06.09.2005 

APPLUS - IDIADA 
Santo Olivo. E-43710, L'Albomor (Tarragona). SPAIN 

Madrid (SPAIN) 125.08.2005 

1349 

By laserlEly tricro-percussion1Plate frxed with rivettes 
En !Aiser 10> rnicro-perrmIdn I Placa fiAsda can rernaches 
Au Laser 1,1 frkro-fer. ctssion !Nese Rennen> des nye. 

Approval No.: 
tr de hornologacion 

dhomologation 

Make and Type: 
Marca y 
Margue et type: 

Approval issued by: 
Homologacion emitida por 
Homologation Pfuis par 

Apprcoral place & date: 
Lugar y fecha de la hornologaclön 
Date et Ueu dhomologation 

Report issued by: 
Informe ernItido per 
Rapport emis par 

Place & date of issue: 
Leger y fache del nforme 
Date et heu du rapport 

.........„ 
Approval identification: 
Identtficador de hornologacion 
Identificateur dhomologatIon 

Maticing 
Marc* 

Mantune 

FIELD OF APPLICATION I Tabla de ankarinnes I Tableau (rapplicatron 

Dear customer, 

Tecnigas would Ute to thank you 
for your interest in our products. 
The product you bought is a key 
part for the good performance of 
your motorcycle. In order to get 
an Optimum performance, lt is 
recommended to read thoroughly 
the assembty instructions below. 

Assembly instructIons 

1. Remove the original exhaust. 

2. Place the cylinder union nozzle 
nd the sheet with 
spring location up on the cylinder 
output without tightening screws 
comptetety. 

3- Instatt the new E-Nox Tecnigas 
using the springe to fix lt in 
the cylinder opening. 

5. Fix the union gasket and the 
manifold together with the 
sitencer gasket and the 
sitencer. 

6. Fix the sitencer at the frame, 
place the spacer between the 
cbm and the frame bracket. 

7. Check there are no gas teaks. 

Maintenance 

1. Clean the staintess steel 
muffler outer with a multi-propo 
se spray and the fiber or painted 
muffler outer with a soft and dry 
cloth. Do not use aggressive 
chernical cleaners. 

2. The muffler bracket shoutd be-
periodically checked as wett the 
parts that couLd be damaged by 
use. A further change In cotour of 
the muffler is due to its normal 
use and lt depends on the nature 
of the materials used and the 
heat. 

3. Periodically make eure alt the 
botts are sufficiently tight. 

Estirnado diente, 

Le damos las gracias por confiar en 
un producto Tecnigas. EL producto 
que ha adquirido es una pieza clave 
en et funcionamiento del motor de 
su motocicleta y le dar ä muchas 
satisfacciones a partir de ahora, 
pero es aconsejabte seguir las 
instrucciones de i 	nuntale que 
relacionamos a continuaciön. 

instrualones de montaje 

1. Desrnontar et escape original. 

2. Cotocar en la boca det citindro la 
tobera con et atojamiento para 
los muelles hacia arriba, 
apretando moderadamente los 
tornittos. 

3. Montar et nuevo E-Nox Tecnigas 
utilizando tos muelles para su 
fijaciön en la satida del citindro. 

5. Cotocar la junta de uniön y ei 
cotector con la junta det 
sitenciador y et sitendador. 

6. Para fijar ei sitenciador al chasis: 
Intercatar et casquitto entre La 
abrazadera y et soporte del 
chasis. 

7. Verificar que no existan fugas de 
gases. 

&Unterelento 

1. Limpie et exterior de un 
sitencioso de acero inoxidable con 
un spray lubricante multiusos y ei 
exterior de un sitencioso de fibra o 
pintado con un paho suave y seco. 
No utilice limpiadores quimicos 
agresivos. 

2. inspeccione periödicamente tos 
soportes det silencioso y de todos 
tos elementos que puedan 
desgastarse por ei uso. Un cambio 
eventual del cotor det sitencioso se 
debe a una utilizaciön normal y 
depende de la naturateza de los 
prockztos empleados y del calor. 

3. Cornpruebe periöclicamente que 
los tornillos estän apretados. 

[her dient, 

Merci pour faire confiance aux 
produits Tecnigas. Le produit que 
VOUS venez d'acheter est une partie 
de de la bonne performance de 
votre rnoto. Afin d'obtenir uns 
performante optimale, it est 
recommande de lire attentivement 
cette notice de montage. 

Notice de montage 
1. Demonter le pot d'echappement 

d'origine. 

2. Placer la tuyere union cylindre 
dans l'entree du cytindre avec 
l'emplacement des ressorts vers 
le haut-, en serrant las vis avec 
moderation. 

3. Assembler le nouveau E-Nox 
Tecnigas en utitisant tes ressorts 
par le fixer ä l'entree du 
cylindre. 

6. Mette le joint d'union et le 
collecteur ensemble avec le 
joint et te sitencieux. 

7. Fixer le sitencieux au chässis, 
intercater tei 	lt etoise parmi le 
cottier de fixation et la patte de 
fixation du chässis. 

EL Verifier qu'ils n'existent pas de 
fuites de gaz. 

Entr•etien 

1. Nettoyez l'exterieur dun 
silencieux en acier inoxydable avec 
un aerosol lubrifiant mutti-usage et 
l'exterieur dun silencieux de fibre 
ou peint avec un chiffon doux et 
sec. Ne pas utiliser de nettoyants 
chimiques agressifs. 

2. Contröler periodiquement las 
fixations du sitencieux et tous Las 
elements qui puissent se 
deteriorer par l'usage. Un 
changement eventuel de la couleur 
du sitencieux est du ä uns 
utitisation normale et depend de la 
nature des materiaux utilises et de 
la temperature. 

3. Verifier petiodiquet 	ier t que 
toutes las vis sont bien serrees. 

Beta RR 50>2016 (Euro 4) 

TRUEBA RR 50 >2016 (Euro 4) 

RR 50 '12217 (Euro 3) 

TRUEBA RR 50 '12217 (Euro 3) 

, 


	Page 1
	Page 2

